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6 34 Iih EE ik 113
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2 8 HEE it =F 22
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JINHR
RANK | no. KE £ K= | off Reb | dff Reb [total Reb
1 50 EE BX = 47 31 78
2 11 S =2F 24 34 58
3 4 NN flE FE 17 35 52
4 14 fEkE XXk = 10 33 43
4 8 HEfE it =2F 15 28 43
6 20 HE #& = 9 32 41
7 25 RN = 13 27 40
8 16 INEF IR = 14 25 39
9 75 HE HBA = 11 27 38
10 15 HZE X =F 16 18 34
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1 75 HEE s = 51
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5 4 =5l EZ =F 21
6 10 xHF KE =S 16
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8 25 RN = 15
8 11 R iR =F 15
10 8 HEfE it =F 13
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1 19 B T= = 23
2 17 | B4R HES i 20
3 7 S i 18
4 11 RE HhEb L 9
4 12 R XY =T 9
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1 17 | E4 HBES iz 25 58 83
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4 51 EH #F FE 30 26 56
5 88 =2 =R L& 22 22 44
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3 51 EH #F R 21
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8 11 RE hEb iz 11
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